Выполните решение примеров.
38 т 650 кг : 10 =            т              кг 
         т              кг =                кг
             кг : 10 =             кг


6 м 35 см х 100 =            м
м         см  =            см
см  х   100 =             см

47 т 50 кг   : 10  =              кг
        т        кг =            кг
           кг   :  10 =        кг





2 группа

Стр. 117 №375 (1 ст).







3 группа
Стр.117 № 375 (1 ст).
Составьте подобный один пример и выполните его решение.











821 м
[bookmark: _GoBack]4 ц 75 кг
3 т 865 кг          635 м




